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Chapter 12
THREE DIMENSIONAL GEOMETRY

Any point on X — axis - > ( x, 0, 0)

Any pointony —axis - >(0,y, 0)

Any point »jon z—axis - > (0,0, 2)

Any pointon XY - plane —(x,Yy, 0)

Any pointon YZ - plane - (0,Y, 2)

Any pointon ZX - plane — ( X, 0,2)

Distance between two points P ( Xy, Y1, z1) and Q ( X2,V 22) 1S
PQI=/(xz = %)% + (V2 —¥1)? + (22 — z1)?

The co- ordinates of R which divides aline segment joining the points

P(X1,Ynzi)and Q(Xz2,Y2 22)

Internally and externally intheratiom: n are respectively

mx,+nx,; myp,+ny; mz,+nz;
R ( , , and
m+n m+n m+n

S(mxz—nxl my,—ny; mzz—nzl)
m-n ' m-n ' m-n

The coordinates of the centroid of the triangle whose verticesare ( X1, Y1, 21),
(Xz,yz, Zz) and(Xg,yg, 23) IS

<X1+ x2+x3 y1+ y2+y3 Z1+ Z2+Z3>
3 ’ 3 ’ 3

TEXT BOOK QUESTIONS

*—> Exercise12 .2-- 3,4,5
= Example-7, 8,9, 10,11,12,13

**x—> Exercise 12 .3-- 3,4,5
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Extra Questions:

1.Find the distance between ( -3, 4, -6) and itsimage in the XY — plane.
(ans: 12 units)

2.Find the points on the y- axis which are at adistance of 3 units from the point
(2,3,-1)

(ans:(0,1,0),(0,50))

3.If A and B arethepoints (1, 2,3) and (-1, 4, -3) respectively then find the
locus of apoint P such that PA? - PB? = 2k?

(ans: 2x—2y + 6z + 6 + k*
:O)

4. If thepointsA (1,0,-6),B(-3,p,q) and C (-5, 9, 6) are collinear, find the
valuesof pand g.

(ans:p=6,0=2)
5. Two vertices of atriangleare ( 2, -6 ,4) , (4, -2, 3) and its centroid is

(2,-1,3) , find the third vertex.

(ans: (25,2)
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